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Bachelor of Arts (B.A.) Fifth Semester Examination

ECONOMICS (INDIAN ECONOMY—I)
(Optional)

Time : Three Hours] [Maximum Marks : 80

Note :— (1) Attempt ALL questions.
(2) All questions carry equal marks.
(3) Draw neat diagrams wherever necessary.

1. (a) What are the reasons for low productivity in Indian agriculture ? Suggest the measures to
increase its productivity.

OR

(b) Explain the effect of Green Revolution on Indian Economy.

(c) Explain the types of irrigation in India.

2. (a) What is industrial policy ? Explain India’s Industrial Policy—1991.

OR

(b) What is Globalisation ? State the advantages with reference to India.

(c) What are the problems of Cottage Industries in India ?

3. Answer the following questions in short (any FOUR) :—

(a) What do you mean by demographic transition ?

(b) Explain the importance of calculating national income.

(c) Write the merits of Socialist Economy.

(d) Explain the features of Indian Economy.

(e) What are the features of Maharashtra Economy ?

(f) Explain the shortcomings of Family Planning Programme in India.

4. Answer the following questions in short (any FOUR) :—

(a) Explain the labour problems in India.

(b) Explain the causes of inequality of Income.

(c) Write note on-self-employment programme.

(d) What are the types of unemployment ?

(e) What is exploitation of labour ?

(f) What is vicious circle of poverty ?

5. Choose correct options for following multiple choice objective questions (ALL compulsory)  :—

(i) Which one of the following is the most significant feature of the Indian population ?

(a) Declining Birth Rate (b) Improvement in literacy level

(c) Size of adolescent population (d) Improvement in health conditions
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(ii) Indian Economy is —

(a) Gandhian Economy (b) Free Economy

(c) Socialistic Economy (d) Mixed Economy

(iii) Which of the following is not a cash crop ?

(a) Jute (b) Groundnut

(c) Jowar (d) Sugarcane

(iv) How many types of irrigation are used in agriculture ?

(a) Surface (b) Sub-surface

(c) Sprinkler (d) All the above

(v) Which among the following does not belong to India’s major large scale industries ?

(a) Cotton Textile industry (b) Iron and Steel industry

(c) Jute industry (d) Khadi and Village industry

(vi) When was the first Industrial policy introduced ?

(a) 1855 (b) 1948

(c) 1956 (d) 1961

(vii) Which one of the following programmes was launched with the objective of helping the poor
in rural areas to became self-employed ?

(a) DPAP (b) IRDP

(c) TRYSEM (d) DDP

(viii) Who is considered as poor ?

(a) Landlord (b) Landless Labourer

(c) Rich Farmer (d) Businessman
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¼ejkBh ekè;e½
1. ¼v½ Hkkjrkr ’ksrhph mRikndrk deh vl.;kph dkj.ks dks.krh vkgsr \ frP;k mRikndrk ok<hlkBh mik; lwpok-

fdaok
¼c½ gjhr Økarhps Hkkjrh; vFkZO;oLFksoj gks.kkjs ijh.kke Li"V djk-

¼d½ Hkkjrkrhy flapukps izdkj Li"V djk-

2. ¼v½ vkS|ksfxd /kksj.k Eg.kts dk; \ HkkjrkP;k 1991 P;k vkS|ksfxd /kksj.kkps Li"Vhdj.k |k-

fdaok
¼c½ tkxfrdhdj.k Eg.kts dk; \ HkkjrkP;k lanHkkZr R;kaps Qk;ns fo’kn djk-

¼d½ Hkkjrkrhy dqVhj m|ksxkaP;k leL;k dks.kR;k vkgsr \

3. [kkyhy iz’ukaph laf{kIr e/;s mÙkjs |k ¼dks.krsgh pkj½ %—
¼v½ yksdla[;k laØe.k Eg.kts dk; \

¼c½ jk"Vªh; mRiUu eki.kkps egRo Li"V djk-

¼d½ lektoknh vFkZO;oLFksps xq.k fygk-

¼M½ Hkkjrh; vFkZO;oLFksph oSf’k"Vs Li"V djk-

¼b½ egkjk"Vªkrhy vFkZO;oLFksph oSf’k"Bs dk; vkgsr \

¼Q½ Hkkjrkrhy dqVqac dY;k.k dk;ZØekP;k vi;’kkph dkj.ks Li"V djk-

4. [kkyhy iz’ukaph laf{kIr e/;s mÙkjs |k ¼dks.krsgh pkj½ %—
¼v½ Hkkjrkrhy JfedkaP;k leL;k Li"V djk-

¼c½ mRiUukrhy vlekursph dkj.ks Li"V djk-

¼d½ Lo;ajkstxkj dk;ZØekoj fVi fygk-

¼M½ csdkjhps izdkj dks.krs vkgsr \

¼b½ Jfedkps ’kks"k.k Eg.kts dk; \

¼Q½ nkfjnzîkps nq"VpØ Eg.kts dk; \

5. [kkyhy cgqi;kZ;h oLrwfu"B iz’ukaps ;ksX; i;kZ; fuoMk ¼loZ vfuok;Z½ %—
(i) Hkkjrh; yksdla[;sr [kkyhyiSdh dks.krh egRokph fo’ks"krk vkgs \

¼v½ tUenj ?kV.;kcíy ¼c½ lk{kjrsP;k ikrGhr lq/kkj.kk

¼d½ fd’kksjo;hu yksdla[;spk vkdkj ¼M½ vkjksX; ifjfLFkrhe/;s lq/kkj.kk



(ii) Hkkjrh; vFkZO;oLFkk vkgs %

¼v½ xka/khoknh vFkZO;oLFkk ¼c½ eqDr vFkZO;oLFkk

¼d½ lektoknh vFkZO;oLFkk ¼M½ feJ vFkZO;oLFkk

(iii) [kkyhyiSdh dks.krs jks[k ihd ukgh \

¼v½ T;wV ¼c½ HkqbZewax

¼d½ Tokjh ¼M½ Ål

(iv) Ñ"khe/;s fdrh izdkjps flapu okijys tkrs \

¼v½ i‘"VHkkx ¼c½ mi&i‘"VHkkx

¼d½ fLizadyj ¼M½ ojhy loZ

(v) [kkyhyiSdh dks.krk m|ksx Hkkjrkrhy eksB~;k m|ksxk’kh laca/khr ukgh \

¼v½ dkiwl oL= m|ksx ¼c½ yksa[kM o LVhy m|ksx

¼d½ T;qV m|ksx ¼M½ [kknh o xzkeks|ksx

(vi) izFke vkS|ksfxd /kksj.k d/kh %

¼v½ 1855 ¼c½ 1948

¼d½ 1956 ¼M½ 1961

(vii) xzkeh.k Hkkxkrhy xjhckauk Lo;ajkstxkj feG.;klkBh enr dj.;kP;k mís’kkus iw<hyiSdh dks.krk dk;ZØe lw: dsyk
xsyk \

¼v½ Mh-ih-,-ih- ¼c½ vk;-vkj-Mh-ih-

¼d½ Vªk;lse ¼M½ Mh-Mh-ih-

(viii) xjhc dks.kkyk ekukos \

¼v½ tehunkj ¼c½ Hkqfeghu etwj

¼d½ Jhear ’ksrdjh ¼M½ O;olkf;d
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¼fgUnh ekè;e½
1. ¼v½ Hkkjr esa Ñf"k dh mRikndrk de gksus ds dkj.k dkSuls gS \ mldh mRikndrk c<+kus ds fy, mik; lq>kb;sA

vFkok
¼c½ gfjrØkafr ds Hkkjr ds vFkZO;oLFkk ij gksus okys izHkko Li"V dhft;sA

¼d½ Hkkjr esa flapkbZ ds izdkj Li"V dhft;sA

2. ¼v½ vkS|ksfxd uhfr D;k gS \ Hkkjr ds 1991 dh vkS|ksfxd uhfr dk Li"Vhdj.k nhft;sA

vFkok
¼c½ oSf’odj.k D;k gS \ Hkkjr ds lanHkZ esa oSf’odj.k ds ykHk fo’kn dhft;sA

¼d½ Hkkjr esa dqVhj m|ksxksa dh leL;k,a dkSulh gSa \

3. fuEu iz’uksa dks la{ksi esa gy dhft;s ¼dksbZ Hkh pkj½ %—

¼v½ tula[;k laØe.k (Transition) D;k gS \

¼c½ jk"Vªh; vk; x.ku dk egRo Li"V dhft;sA

¼d½ lektoknh vFkZO;oLFkk ds xq.k fyf[k;sA

¼M½ Hkkjr ds vFkZO;oLFkk dh fo’ks"krk,a Li"V dhft;sA

¼b½ egkjk"Vª dh vFkZO;oLFkk dh fo’ks"krk,a D;k gSa \

¼Q½ Hkkjr esa ifjokj fu;kstu dk;ZØe dh vlQyrk ds dkj.k Li"V dhft;sA

4. fuEu iz’uksa dks la{ksi esa gy dhft;s ¼dksbZ Hkh pkj½ %—

¼v½ Hkkjr esa Jfedksa dh leL;k,a Li"V dhft;sA

¼c½ vk; esa vlekurk ds dkj.k Li"V dhft;sA

¼d½ ^Lo;a jkstxkj dk;ZØe* ij fVIi.kh fyf[k;sA

¼M½ csjkstxkjh ds izdkj dkSuls gSa \

¼b½ Jfedksa dk ’kks"k.k D;k gS \

¼Q½ xjhch dk nq’pØ D;k gS \

5. fuEu cgqfodYih oLrqfu"B iz’uksa ds mfpr i;kZ; dk p;u dhft;s ¼lHkh vfuok;Z½ %—
(i) Hkkjrh; tula[;k esa fuEu esa ls dkSulh egRoiw.kZ fo’ks"krk,a gSa \

¼v½ tUenj de gksus ds laca/k esa ¼c½ lk{kjrk ds Lrj esa lq/kkj

¼d½ fd’kksjkoLFkk tula[;k dk vkdkj ¼M½ LokLF; fLFkfr esa lq/kkj
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(ii) Hkkjrh; vFkZO;oLFkk gS %

¼v½ xka/khoknh vFkZO;oLFkk ¼c½ eqDr vFkZO;oLFkk

¼d½ lektoknh vFkZO;oLFkk ¼M½ feJ vFkZO;oLFkk

(iii) fuEu esa ls dkSulh uxn Qly ugha gS \

¼v½ twV ¼c½ HkqbZewax

¼d½ Tokjh ¼M½ Ål

(iv) Ñf"k esa fdrus izdkj dh flapkbZ gksrh gS \

¼v½ Åijh ¼c½ lg&Åijh

¼d½ fLizadyj ¼M½ mijksDr lHkh

(v) fuEu esa ls dkSulk m|ksx Hkkjr esa cM+s m|ksx ls laaca/k ugha gS \

¼v½ dikl oL= m|ksx ¼c½ ykSg ,oa LVhy m|ksx

¼d½ twV m|ksx ¼M½ [kknh ,oa xzkeks|ksx

(vi) igyh vkS|ksfxd uhfr dc ’kq#okr gqbZ \

¼v½ 1855 ¼c½ 1948

¼d½ 1956 ¼M½ 1961

(vii) xzkeh.k {ks= esa xjhcksa dks Lo;a&jkstxkj feyus esa enn djusokys mís’; ls fuEu esa ls dkSulk dk;ZØe ’kq: fd;k
x;k gS \

¼v½ Mh-ih-,-ih- ¼c½ vk;-vkj-Mh-ih-

¼d½ Vªk;lse ¼M½ Mh-Mh-ih-

(viii) xjhc fdls ekuk tkrk gS \

¼v½ tehankj ¼c½ Hkwfeghu etnwj

¼d½ /kuh Ñ"kd ¼M½ O;olk;h
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